Exercise 3. Integration using algebraic substitutions

In Problems 1 to 6, integrate with respect to the variable.

1. 2sin(4x+9)

2. 3 cos(260 —5)

3. 4dsec’(3t+1)

1
4. —(5x—3)°
5Gx=3)
-3
5.
Q2x—1)
6. 3630+5

In Problems 7 to 10, evaluate the definite integrals
correct to 4 significant figures.

1
7. / (Bx +1)%dx
0

2
8. / xV2x2+1dx
0
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9. / 25in(3t+—) dt
o 4

1
10. /3005(4x—3)dx
0



Exercise 4. Integration using algebraic substitutions

In Problems 1 to 7, integrate with respect to the variable.

1. 2x(2x2=3)

2. 5costsin ¢

3. 3sec? 3x tan 3x

4. 2t+/3t2—1
In6
5 Y
6. 3tan 2t
2¢!
7.
el +4

In Problems 8 to 10, evaluate the definite integrals correct to 4 significant figures.

1
8. / 3xe(2x271)dx
0

/2
9. / 3sin* 6 cos® db
0

1
3
10, /—xdx
0 @x2—1)





